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Preface

Dear govt. job aspirants,

Thisis an age of cut-throat competition and in order to win this race, you have to make
sure that your preparation level is a cut above the rest. Considering the sheer
magnitude of the aspirants who apply for government jobs, one has to make sure that
one takes guidance from the best of the materials available.

We have always strived to provide you with the best study materials to make your
dream of a government job a reality. This book for competitive exams Test series also
follows the same lineage. The CGL & CHSL Prectice King will help you
understand the pattern of the exam and will help in taking your preparation level up
by a notch. With detailed solutions set bilingually, we have made sure that this book is
easily comprehensible for students of all levels.

To make sure you get a perfect companion for your preparation, we have put in much
effort to make sure that this book is completely error-free. Regular revision with this
book as a guide will surely help you gain the edge you need, the winning edge.

I earnestly thank the "Champion Publication team" who worked tirelessly to
ensure the quality of the book, and also helped us detect all the typographical and
other errors that might have crept in, if not for their keen overview.

Striving to serve the student community and to impart quality education.

Champion Publication
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Number System

W

NUMBER SYSTEM ( 9&T Ugfd)

SSC CGL MAINS 2018
{11 Sept. 2019}

One of the factors of (8% +5%),
where k is an odd number, is:

(8% + 5%) =1 TF TGS, &l K TF
faom wem ©:

(a) 84 (b) 86

(c) 89 (d) 88

If 2+4/5-3)xk=-12, then

what will be the value of k?

A2 +/5 -3)xk =-12F Kk*

TH F B

) W2 ++/5 -V/3)(2+5)
(b) W2 ++/5 +/3)(2-+/10)
(©) W2 ++/5++/3)(2-+5)
(d) W2 ++5+3)

7+8x8+80f 8+8+8x40f 4

4+ dof 414xd=4-4+dof2 7
(a)4.6 (b) 7.8

(c)6.4 (d) 8.7

The sum of the digits of a two-
digit number is 1/7 of the
number. The units digit is 4
less than the tens digit. If the
number obtained on reversing
its digits is divided by 7. the
remainder will be:

[ AR R WS F AR H AN, YA
F11/7 21 THE 3T </ oiF W 4 W
21 A% oiF F IoA A W AD@ I7F 7
o faufsa =i 2, 9 Swwa =0 e
(&)1 (b) 5

(c)6 (d) 4

When 7897, 8110 and 8536 are
divided by the greatest number
x, then the remainder in each
case is the same. the sum of

the digits of x is:

S 7897, 8110 3R 8536 I Tl
== e x ¥ fawtaa fen s ©, @
= foofs & o9 wE w@ R A x B
SHT 1 AT B

()9 (b) 6

(c) 5 (d) 14

6. (26of+ 2} {3 22cf1-1J
5730437274

IR\ Gagan Pratap Sir

10.

(@)5 (b) 1/8
(¢)1/5 (d) 8
When 12, 16, 18, 20 and 25

divide the least number x, the
remainder in each case is 4
but x divisible by 7. What is the
digit at the thousands place in
x?

s 12, 16, 18, 20 3 25 T =
e x o faafsa @ 2, A o feafy o
I 4 37 © A x, 7 0 Faa € s
i x % TR % TF W FA W 3% T2

(&) 5 (b) 4
(c)8 (d)3
If a nine-digit number

389x6378y is divisible by 72,
then the value of
be:

afz T 1 =1 ¥em 389x6378y, 72

T faws 7, @ J6x+ 7y F AH W

6x + 7y will

(a)8 (b) 6
(c) Va6 (d) V13
If x = (633)* — (277)% + (266)%*.

what is the units digit of x?

AR x = (633)% — (277)% + (266)%
2, @ x F1 ITHE FAF T 7

(a)4 (b) 7

(c)6 (d) 8

Let a, b and c be the fractions
such that a<b<c. If c is divided

5
by a, the result is =, which

7 11
exceeds b by Z.Ifa+b+c= 1E

then (c — a) will be equal to:
a,b R ctg fa= ® fF a<b<c Tl
Atz ¢, a @ fawfaa oo s/ 2 @

TR gﬁwm%,aﬁbﬁ %afw
11

2l 4% atb+c = 15% q (c - a)

frefafed & o fras R 2

(b)

ol N+

11.

4
In a school 5 of the number of

students are girls and the rest

3
are boys gof the number of

boys are below 12 years of age

4 =2
and 15
are 12 years or above 12 years
of age. If the number of

students below 12 years of age

of the number of girls

5
is 480, then Eof the total

number of students in the
school will be equal to:

TF o b, oW w ww Wen #
ga@ﬁ?ﬁﬁr{aﬁﬁm%lmaﬁ

Fo TN H —, 12 WA U FA 7, I

TR kT W wT % 12 @& =
ITY It 71 AR 12 Ol W HE @
El 1 Tem 480 ®, @ TRat | Bl ®

Enclcicakn! Eﬁwﬁﬁﬁm@w%?

(a)225 (b) 315
(c) 270 (d) 240
12.22.4+11.567 - 33.59 =?
(a) 0.412 (b) 0.31
(c) 0.412 (d) 0.32

13.

SSC CGL MAINS 2018
{12 Sept. 2019}

Three fraction x, y and z are
such that x > y > z, When the
smallest of them is divided by

the greatest, the result is 16
which exceeds y by 0.0625. If x

1
+y + z=1——, then the value of

24°
x+ zis:

A 3 X, Yy Wz, x> y>2zF
w%mmﬁﬁwﬁ@ﬁéaﬁmﬁa@

o faufsa fFr s 8, @ wRom E
forhera & S R y ¥ 0.0625 i 71 A

x+y+z= IQi,ﬁlx+zao‘lﬂH%:
(a)7/8 (b) 1

% 7
© 52 @ &

CHA&PIONPUBLICATIDN



14.

15.

16.

17.

18.

19.

20.

If the 11-digit number
5678x43267y is divisible by 72,

then the value of ,/5x+8y is:

=fz e i w1 W@ 5678x43267y,

720 E, @ ([5x4 8y M E:
(a)6 (b) 4
()7 (d) 8

1 6 3
The value of (1§+27 of 55)
2

. 6241 of 51 «
P (6gF4g of 57)
2

5 1
25 ) of lg) = 1+k, where k

lies between: /2 I, k =1 77 fru
= emam?

(a)-0.07 and/#R -0.06
(b)-0.06 and/#R -0.05
(c)-0.05 and /&t —0.04
(d)-0.08 and /&t —0.07

The expression [10+2(v6-+15-+10)

is equal to:

i |10 +2(v6 - V15 - V10 Frifeifiam

4 @ forus s 22

2) V3 +2 -5

(0) V3 -2 -5

(©) V3 -+2++5

(@ V2 -3 -5
(0.545)(0.081)(0.51)(5.2)

(0.324)° +(0.221)° - (0.545)> ~

(a)-1 (b) 1

(c)3 (d) -3

’I‘he number of factors of 3600

1S:

3600 ¥ fred HEE €

(a)45 (b) 44

(c) 43 (d) 42

= (164)!% + (333)3%7 — (727)72°
then what is the units digit of x
?

(—x

4

x=(164)'% + (333)%7 — (727)7%°
2, @ x FTHE FF FO 7

(a) S (b) 7

(c)8 (d) 9

Let, x be the least number which
when divided by 15, 18, 20 and
27, the remainder in each case
is 10 and x is a multiple of 31.
What least number should be
added to x to make it a perfect
square?

AfE x 1 T B gEN °E ad © R
ST 15, 18, 20 31X 27 © faurtsa
i ST €, A T AR 9N 10 W e
2 9 T x, 31 F E TN T xFH
wF o s w feg ol Ao
T BE WEm SiEl SE Se?

IR\ Gagan Pratap Sir

21.

22.

23.

24.

25.

26.

27.

(a) 39 (b) 37

(c) 43 (d) 36

When a two-digit number is
multiplied by the sum of its
digits, the product is 424. When
the number obtained by
interchanging its digits is
multiplied by the sum of the
digits, the result is 280. The sum
of the digits of the given number
is:

4 F E T G T IHH AR F
e § o foRen S 2, A Swew e
424 A1 2| THH R H TH-TW H
TIA T TEHL A ST FSH] ® A
¥ n fE SR, @ OTERe 280
freera € TEn # SF F A o

(a)6 (b) 9

(c)8 (d) 7
0.56-0.723+0.39 x0.7 =°?
(a) 0.154 (b) 0154

(c) 0158 (d) 0.158

I9x6+24+8+20f 5-30=4 of
4427x5+9 =7

647 243
@2 M5
493 259
©=% @7

SSC CGL MAINS 2018
{13 Sept. 2019}

If x is the remainder when
361284 is divided by 5 and yis the
remainder when 4° is divided
by 6, then what is the value of
(2x-y??

afx 361284 = 5 @ Fenfaa fagen <rar
AW xS T AR AR 4% w6 U
faurfsa fen S0 € A 9wy S 2
(2x — y) 1 HH T T2

(a)- (b) 4

(c) - (@ 2

The value of 58,1043 -\/7-443 iS

closest to :

(a)7.2 (b) 6.1

(c) 6.5 (d) 5.8

0.47+0.503-0.39x0.8 =?

(a) 0.615 (b) 0615

(c) 0.625 (d) 0.625

The value of
vio [5-2 3

V542 -7 NB5+2 7-2

is:

a) 2+/2 (b) 25

(c) V2 (d) V7

&

28.

29.

30.

31.

32.

Number System

24 x2+12+12+60f2+(15+
8 x4)of (28+70of 5) =7

1

(@) 4=

4
- (b) 42

45

32

4%

(d 75
A student was asked to find the

(©) 42

4 1 1
9—+11—of —
of6

value of )

+(1l
3

1
His answer was 192.

4.3 9
57 SJQ of 5 __Of§'

What is

the diffrence between his
answer and the correct
answer?

ws famnef =

9i+1110fl+(1l 11?§J
9 3 3 55
1 .2 4 .2
x2 —of =+—of
50373 S‘cmwﬁﬁ'cb‘mﬁzﬁ
1
fau wer T STET S 19— 2T
ITF I AR TE I W R oW 872

3 2
() 75 (b) 63
1 1
(c) 75 (@ 65

If a 10-digit number 5432y1749x
is divisible by 72, then what is
the value of (5x —4y)?

afz 10 =% =t Wem 5432y1749x
wem 72 © fawem ® A (Sx—4y) #
M = 27

(a) 14 (b) 15

(c) 10 (d) 9

What is the remainder when
(127°7 +97°)is divided by 32?
A (127°7+97°) =t 32 © fawfsa
o ST ® o fRa o w22
(a)4 (b) 2

()7 (d o

a, b and c are three fraction
such that a<b<c. If ¢ is divided
by a, the result is 9/2, which
exceeds b by 23/6. The sum of
a, band cis 19/12. What is the
value of (2a+b-c)?

a, b 3R c, a<b<c ® ®1 # a1 fu=
gl Az ¢ H a AW fAafsE e S
2 9 uftorg 9/2% @ ¥, i b T 23/
6 ik 21 a,b 3R ¢ 1 AT 19/12
2l (2a+b-c) ®1 °H T 22

1 1
(a) 5 (b) 3

1 1
© 15 @ 5

CHA&PIONPUBLICATIDN



33.

34.

35.

36.

37.

Two positive numbers differ by
2001. When the larger number
is divided by smaller number,
the quotient is 9 and the
remainder is 41. The sum of the
digits of the larger number is:
T o wemst § 2001 1 SR R
T T wI B e v fawfsa wm
W AR 9 S 9N 41 S ¥ =
T % H H AN FA B2
(a)15 () 11
(c) 10 (d 14

SSC CGL MAINS 2019

{15 Nov. 2020}

The value of (2. 4 x0. 6 x3x0.1 6)
x[0.27 x(0.83+0.16)] is:
(24x0.6x3x 0.18) x[0.27 x

(0.8§+0.16)}sm o9 T F T

(@) 0.814 (b) 0.11

(© 11 (d) 1.36

Two positive numbers differ by
1280. When the greater
number is divided by the
smaller number, the quotient
is 7 and the remainder is 50.
The greater number is:

T FEEE WEAs wOFR 1280 F
V& FE W H s e 9 fawfea
fen ST €, @ wmTRe 7 @R Sivwd
50 W T ¥ WS Wl qd Hie
(a) 1458 (b) 1485

(c) 1585 (d) 1558

45 1
If —=—""1

53 at——g—

2

C_i

5
and c are positive integers,
then what is the value of (4a—

b+3c)?
45
i 53

, Where a, b

b+

B AN
a+ 1

b+ 5

y @

4R ¢ wFeA qoi® €, 9 (4a—b+3c)
F HE AG SIS
(a)S (b) 4
(c) 6 d) 7

Th 1 f{if ixg
e value o 70 25 13—

1 1 1 1 1
3=_2=||+|3=242of5=|is:
( 2 6]}( 5'42°f53]13'

b7 =
07

a1t
@15

(a) 10

(c) 15

IR\ Gagan Pratap Sir

38.

39.

40.

41.

The numerator of a fraction is
3 more than the denominator.
When 5 is added to the
numerator and 2 is subtracted
from the denominator, the

8
fraction becomes 5 When the

original fraction is divided by

1
) 5 the fraction so obtained is:

freht for =1 of91, =X § 3 atfers ®1 S
9 ¥ 5 Sgr a1 g @i W W 2 e

w%,aﬁfw%ﬁaﬁr%mn@

— 5% @ Frenfra e v &, @
 fa= 7 s
(a) 7 (b)

Bl b=

© 5 @

JI875 1200
Let, x= | /3888 ~ V768 |~

V175
793 - Then .[x is equal to:

Ji875 /1200
A X = /3888 7 768 |~

4
(a) 12 (b) 9
S
9

5
© 15 @
The expression
15(\/ﬁ+\/§) )
101420 +440 -5-80

equal to:
(2)5+242  (b) 525

(c) 5(3+24/2) (d) 10(3+2./5)
The value of 3+18 of 3x6 + 21x6
+18-3 + 2+3-3 + 9 of 3x9 is:
3+180f 3 x6+21 x6+18-3 +
2 + 3 —3+9 of 3x9 & 7F T HIfsU|

47 41
(@) & (b) )
35 29
(c) o (d) s

O

42.

43.

44,

45.

46.

47.

Number System
When positive numbers x , y
and z are divided by 31, the
remainders are 17, 24 and 27,
respectively. When (4x —2y+32)
is divided by 31, the remainder
will be:
9 SFTEE WM x, y IR z W 31 W
s foen < 2, @ wme: 17, 24,
AR 27 Wk WIE el ¥l W (4x—
2y + 3z) & 31 ¥ fawfsa fEn smn
2, @ W INEA [ S

(a)9 (b) 8
(c) 16 (d) 19
0.0203x2.92

Thevalue of 4 5 0365x2.9 ~
(12.12)2-(8.12)2
(0.25)2+(0.25)(19.99) '
(a)0.05 (b) 0.5
()1 (d) 0.01
When 1062, 1134 and 1182 are
divided by the greatest number
x , the remainder in each case
is y. What is the value of (x-y)?
@ 1062, 1134 3 1182 = ==t
e x @ fafsa o s 2, @ wow
e H AW y W B R (x—y) B

AH JE HitAT)
(a) 19 (b) 17
(c) 16 (d) 18

If the 5-digit number 535ab is
divisible by 3, 7 and 11, then
what is the value of (a? — b? +ab)?
afz 5 i Al @@ 535ab, 3, 7
dR 11 9 fasma 2, @ (a2 — b? +ab)

FT HE AG SIS
(a)95 (b) 83
(c) 89 (d) 77

SSC CGL MAINS 2019
{16 Nov. 2020}

The value of 057- 0432 +
0.35 is:

0.57 - 0.432+035 ¥ WA I
i)

(@) 0.494 (b) 0.498

(c) 0.498 (d) 0.494

If the five-digit number 235xy
is divisible by 3, 7 and 11, then
what is the value of (3x - 4y)?
afs W= e A Wem 235xy, 3, 7
AR 11 9 faosa ®, @ (3x — 4y) F

aH J9 Hieg)
(a)8 (b) 9
(c)5 (d) 10

CHA&PIONPUBLICATIDN



48.

49.

50.

51.

52.

The denominator of a fraction
is 4 more than twice the
numerator. When the
numerator is increased by 3
and the denominator is
decreased by 3, the faraction

2
becomes 3 What is the

difference between the
denominator and numerator of
the original fraction?

fFaifm R, w® M F I 4
afrss ¥ 59 siw ¥ 3 W gfe oW W §

3 % 8,7 ot 2
o % = &R 239 % = ol 3@ Fh
(a)13 (b) 11

(c) 12 (d) 10

If J11-3/8 = a + b2, then
what is the value of (2a + 3b)?
afg 11-348 =a + b2 g, 4t
(2a+3b) % AF @ Fifa

()5 (b) 7

(c)9 (d)3

1 29
If ——7—= Sgwhere x, y

79
X+ 5
y+

zZ+=

and z are natural numbers,
then the value of (2x + 3y - 2)
is:
1
= 1
e
y+

29 .
—7—9%,51%Tx,y3ﬁ'{

Z+=

4

z WrpTas ged €, @l (2x + 3y —2) F
aH J9 Hieg)
(@) 1

()0

(b) 4
(d) 2
3l+4lof 5l+l;lof

11
5 2 3 8 2 4 4

53 o 13
() 15

7 3
(€) g (@ 7
Let ab, a#b is 2-digit prime
number such that ba is also a
prime number. The sum of all
such number is:
oA <ifse % ab, a= b, 2 Hl =
T T 39 T € B ba ot st
e 21 U weft dems w1 e
@ HIfST
(a)374
(c) 407

(b) 418
(d) 396

IR\ Gagan Pratap Sir

53.

54.

55.

56..

57.

58.

4 +12 of [3+4 of {( 4-2) x 6+2}] -
2x6:8+3="?

1 1
(a) 45 (b) 7¢

1
(d) 35

Let, x be the greatest number
which when divides 955, 1027,
1075, the remainder in each
case is the same. Which of the
following is NOT a factor of x?
T x FE 9 ¥ w9 wew &, fiew
955, 1027, 1075 =t famfsa fw=n
Sl €, @ el HHel ¥ WHH 9N
W e 2| FE § O R H-E xR R
(factor) & 2?2

(a)6 (b) 16

()4 (d) 8

Let, x be the least number
which when subtracted from
10424 gives a perfect square
number. What is the least
number by which x should be
multiplied to get a perfect
square?

oM x 98 S § B wen ',
10424 % 9§ e W THF T T Hew
W e 2l 9T B U B W [ W,

(©) 25

5 X ¥ o R R gt a e W 2
()3 (b) 6
()5 (d) 2

27 x(0.25)° +125(0.25)?
(0.759 -0.25x0.5

(a) 1 (b) 0.25
(c) 0.75 (d) 0.5
7+3J5 7-3V5

The value of 3:45 3-45
lies between:
7+3J5 7-35
3:v5 " 3-15 1 HM...3 == 2l
(a)2 and 2.5 (b) 3 and 3.5
(c)1.5and 2 (d) 2.5 and 3
When positive numbers a, b
and c are divided by 13, the
remainders are 9, 7 and 10
respectively. What will be the
remainder when (a + 2b + 5c¢)
is divided by 13?
S SATHF W= a, b @K c w13 ¥
s foen T 2, @ %uw: 9, 7 ¥R
10 ¥rhet 9T El #1154 (a+2b+5¢)
# 13 9 faufsa feen s 2, @ v

TTHS A FL
(a) 10 (b) 5
(c) 9 (d) 8

&

59.

60.

61.

62.

63.

Number System
SSC CGL MAINS 2019
{18 Nov. 2020}
A divisor is 15 times the
quotient and 3 times the
remainder. If the remainder is

40, find the dividend.
T& HNeh, 9NTHa 1 15 AT Ten
RS H1 3 TAT B AR WEA 40 T,

q 9= T FHIfSu
(a) 900 (b) 600
(c) 750 (d) 1000

The numerator of a fraction is 6
less than its denominator. If 1
is subtracted from its numerator
and 5 is added to its
denominator, then its
denominator becomes 4 times
its numerator. Find the fraction.
T fo= &1 o9 T W ¥ 6 FU T
af T oW H ¥ 1 wern Wu SR
T WH 5 e I, 91 THH T TqE
39 ¥ 4 T T S g1 e T #i

4 b S
(a) 11 (b) 11
e d 3
(c) 11 (d) 11
If 13=O.2346, i (e
value of m
Tfg L _00346 2, i
4.263
1
0.0004263 1 T W P
(a) 4.263 (b) 2346
(c) 4263 (d) 2.346

In a two-digit number, its unit
digit exceeds its tens digit by 2
and that the product of the
given number and the sum of
its digits is equal to 460. The
number is:

T TR AT T TS H, THF THE H
3T TUH TEE H F U 2 ArF ¢ @i
q M W TH TH SiE] F AT H
TR 460 ¥ FE e WE il
(a)48 (b) 64

(c) 36 (d) 46

Find the least number which
when divided by 12, 18, 24 and
30 leaves 4 as remainder in
each case, but when divided by
7 leaves no remainder.

7T BE U B WA 9@ &iteg, g
12, 18, 24 =i 30 @ faufsa +@ ™
TS H YA ® T H 4 7= €,
HfFT s 3w 7 @ fawfa fean s g,
T9 T AR TE = 2

(a) 366 (b) 634

(c) 384 (d) 364

CHA&PIONPUBLICATIDN



64.

65.

66.

67.

68.

69.

Evaluate the following:
-[96 +4 of 3 - (16 — 55 + §)]
-[96 +4 of 3- (16— 55 + 5)] #1
aH A Hifs)
(a)0
(c)3
Evaluate:
1 1 1 1 1
+—+—+

(b) 4
(@ 2

15 35 63 99 143

U NS SO WO U

15 35 63 99 143

@ HIfSU)
5 7

d 10

(© 39 d 39

The sum of three numbers is

280. If the ratio between the

first and second numbers is 2 :

3 and the ratio between second

and third numbers is 4 : 5.

then find the second number.

(a) 39

7 "emst w1 A 280 21 AR weedt
o T Hen w1 euE 2 : 3 ® @R
o iR e S F eTE 4 5 €,
q T e F@ SIS
(2)96 (b) 90
(c) 86 (d) 80
8+2415

4

The value of S5-

1

—m is equal to:
5_8+2\/ﬁ_ 1

4 8+ 2415
@ FIC
(a)1 (b) 1/4
(c)2/3 (d 1/2
Find the sum of 6+ 8 + 10 + 12

6+8+ 10+ 12+ 14 ............ +
40 =1 A @ FHISU

(a) 424 (b) 1600

(c) 400 (d) 414

If 2=x+—11 ,
1+ i
5+=
2

value of x is equal to:

then the

afg 2=x+;1 2, @ xF AR
1+

5+l
2

@ HIfSU)
(a)15/13
(c)13/15

(b) 14/13
@ 1

IR\ Gagan Pratap Sir

73. The value of (

b .
70. If g=0-7, find the value of

a-b 11
=z T4
a+b 34°
a- b 11
qﬁ{__(”%?ﬁ atb 34
m‘—rsrmafrﬁm
(a)1 (b) 0.5
(c) 0.3 (d) 0.2

71. Find the number of prime

factors in the product (30)° x
(24)°.
TEAwA  (30)° x (24)5 ®, AGA
THEE F1 @ [ HifU
(a)45 (b) 10
(c) 35 (d) 30

SSC CGL MAINS 2020

{29 Jan. 2022}

72. The value of (.46 +0.723 -

0.39%0.7 is:
(a) 0.97 (b) 0.87
(©) 0.57 (d) 0.77
11+29 of 5§J y
5

62—47 f51 3 2g §ofl
S 2 3 4739 5

= k, where k lies between:
(a)0.007 and 0.008
(b) 0.0007 and 0.0008
(c) 0.7 and 0.8
(d) 0.07 and 0.08

. If the sum of two positive

numbers is 65 and the square
root of their product is 26, then
the sum of their reciprocals is:

A% Y AT T ® A 65 § AR

O 1 A 26 T, Al S SRl
F AT AT FL

3 " l
@ =, (b)
1 . i
(© =5 () =5
6 1 2
. The value of (27 0f4§+§J
1 3 2 1 1
X5§+ (ZXQE of §+ZJ is:
(a)21 (b) 23
(c) 25 (d) 19
. Let, x= (433) - (377)% + (166)*.

What is the units digit of x?
o f& x = (433)* - (377)% +
(166)% ¥, T x 1 THTE 1 1% F0 2
(a)8 (b) 7

(c)6 (d)9

O

77.

78.

79.

Number System
If 847x385x675x3025 = 3ax5Px7°¢
x114, then the value of ab — cd is:
afz 847x385x675x3025 = 32 x
5° x 7¢ x114 @ ab — cd =1 7H F
Bm:
(a)4 (b) 5
(c)1 (d)7
If a 10-digit number
75462A97B6 is divisible by 72,

then the value of ./gA — 4B is:
75462A97B6 TF UHl 10- sHF e

2 720w B, A QA 4B B
H A #

(a) 28 (b) V21

(¢) V30 (d) V27

1 [(20.35)-(835)"|x0.0175
47 (105 +(1.05)(27.65)
9
®) 55
3
(d) 20
3 3 2 11

S S 2
4 7 "4 “35 25

@ 1o

() 20

80.Let, x = 3 1 3 4 ,

81.

=+B=4+b=a8—
4 4 5 15
When yis added to x, the result

7
is 13 What is the value of y?
a1 F‘l" fx x =
5 3.3 x1 5 —+2 2 1—1
4 7 4 35 25

3 1 .3 _4  ® =

=&5=4+B=+8—
4 4 5 15

yF x d S %, @ o %
W T Bl y HOAE A

1 D)
@ 13 (b) 73
9 4
() 13 (d) 13

Three fractions x, y and z are
such that x > y > z. When the
smallest of them is divided by

the greatest, the result is 16

which exceeds y by 0.0625. If x

2
+y +z = 2, then what is the

12°

valueofx+z'9
yIN zdA W@R= 2 x>y >
z%l 93T W PR W T AS ©
ﬁwﬁaﬁmm%ﬁm&wﬁmm

%, S R y ¥ 0.0625 fmk B1 9R% x+y

+z=2-— T A x+z F TH T@ F
55 [d) /4
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82.

SSC CGL MAINS 2020
{03 Feb. 2022}
The value of

(2.53)° +(2.47)°

25.3x25.3-624.91+24.7x24.7

is 5x10%, where the value of k
is:

(2.53)° +(2.47)°

25.3x25.3-624.91+24.7x24.7

WM 5x10% ¥, STt k F 9H B
(a) -2 (b) -1
(c)1 (d) 2
83. The value of/®1 WM 2
114+ 22.567 — 33.59
(@)40.12 b) 4. 12
(c)0.412 (d) 0.0412
84. The sum of the digits of the
least number which when
divided by 36, 72, 80 and 88
leaves the remainders 16, 52,
60 and 68, respectively, is:
IW WY BE e ® AR &AW
framn =i, 59 36, 72, 80 @K 85 ¥
famfsq # ™ ITwd w99 16, 52,
60 3T 68 W T 2
(a)17 () 11
(c) 14 (d 16
85. The value of /%1 =N g
9;{;;;;(3_1)&2}13
12 3 4 6 \4 3) 9
540 480
@7  Oim
2540 340
© 173 @ 173
86. 571+572+57%+57% is divisible by
which of the following number?
fgu U fawew ¥ @ fFw gEm §
5714572+574+575 faue 27
(a)71 (b) 69
(c) 89 (d) 73
87. Let, x, y, z be fractions such that
x<y< z If zis divided by x, the
result is %’ which exceeds y
7 1 11
by e If x+ty+z = 12 then the
ratio of (z—- x): (y — ) is:
T X, y, z WA EH x<y<z
21 A% z 7w x W faurfa fea oA
s 2 w8, Sy s
11
7| =fg x+y+z=1E% @ (29 : (Y-
X) H A F B2
(a)6:5 ) 9:5
()5:6 (d5:9
IR\ Gagan Pratap Sir

88. The

90. If

value of/®1 A 2
3 1 1 3 1 1
— et —t——t——+——
70 42 66 286 130 170

7 3
@ ~5 (b) 5=
11 9
() g5 (d) 35

89. The value of/¥1 WM FArEW:

15+8—§0f §><2 2x§ - i—E +§
4 3 16)\8 4 32 7) 8

(@)0 (b) 1

(c) 2 (d)3
2+£—\/2—£ = ¢, then

2 2

the value of c is:

af% \/2+£—\/2—£ =c® dc

2 2
w1 AA fwaw wm?
()1 (b) 4
(c) 3 (d 2

91. Let, p, q, r and s be positive

natural numbers having three
exact factors including 1 and
the number itself If g > p and
both are two-digit numbers,
and r > s and both are one-digit
numbers, then the value of the

_q_l

expression is

r—-s
o % p, g, r IR s TARHF THTAE
TET ¥, e dF Agmen e
(Exact factors) ¥ 1 @R =4 wew
i B AT q > p ® AR A V-AFA
TEAT E, 990 1 > s €, 3R A -

L . -q-1
et ¥, @ = - (_1 1 A
TR =m?
(a)-S -1 b)S-1
(c)1-S (ds +1
92. The sum of three fractions A, B
o121 _
and C is E.WherelsA>B>

C. When C is divided by B, the

9
resulting fraction is 10 to which

3
exceeds A by2_0' What is the

difference between B and C?

?ﬁ'—rfﬂ-ﬁ‘A,BaﬁICaﬂﬁﬂ%%,
e A>B>C?% @ C®H BH
fafsra feen ST 2, @ afomd fa=

imﬁ%ﬁm%,sﬁ%Aﬁ%aﬁw

10

21 B 3R C F1 @ fhaT 272
1 1

(@) 75 ®) 7o
3 7

© 1o (d) 15

>

93.

94.

95.

96.

97.

Number System
If a nine-digit number 789x
6378y is divisible by 72, then
the value of xy is:
Iz Fi-ai%19 TH T=N 789x 6378y,
Tem 72 © fawsT B @ xy w WA
feam =rm?
(a)10 (b) 12
(c) 8 (d) 15

SSC CGL MAINS 2021
{08 Aug. 2022}

If 3N lies between 6 and 7,
where N is an integer then how
many values N can take?

afg 3N S 6 T 7 % me frem R,
4R Sl N TF s €, a N % T
oM g TR 2

(a)126 (b) 127

(c) 128 (d) 125

If the digits of a two digit
number is reversed, then the
number is decreased by 36.
Which of the following is
correct regarding the number?
I. The difference of the digits
is 4.

II. The value of number can be
84.

ITI. Number is
composite number.
AfE T FAF FT @ F AR F A2
fean <mw, 9t e ® 36 ®T HH T S
Bl Hem & A H fefated § 9 s
w W 77

I. 3Tl @1 SR 4 2

II. @& %1 A9 84 & WAl g

I1. §&T 930 TF 99 S ot 2
(a)I, II and III(b) II and III
(c)land III  (d) I and II

x, y and z are distinct prime
numbers where x< y < z. If x +
y + z = 70, then what is the
value of z?

x, y AT z fafer= s g €, el
x<y<zR A x+y+z=70%
Z % HA F 82

(a)29 (b) 43

(c)31 (d) 37

How many numbers are there
from 400 to 700 in which the
digit 6 occurs exactly twice?
400 ® 700 7% T foe weT 2,
s o 6 G T AR 72
(a)19 (b) 18

(c)21 (d) 20

CHA&PIONPUBLICATIDN
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98. How many composite numbers
are there from 53 to 97?

53 ¥ 97 % Tl w9 WA §7
(a)36 (b) 38

(c) 37 (d) 35

Which fraction among the
following is the least?

frafafes 5 o %0 @ e =9 B
22
S
1’

(a)

99.

8 9
13717

H
S~

|n

7
(b) 12

8
@ 13

the

—_
—_

9
(€ 17

100. What is

value of
9g9

99£+99£+99§+...+9 ;
99 99

99 99

99£+99£+99§+m+ 99ﬂ
99 99 99 99

F TH T E?
(a)94220/33 (b) 95120/33
(c)97120/33 (d) 96220/33
What is the value of
VJ29.16 +\/O.2916 +\/0.0036
J1.1664 116.64 +/0.36
VJ29.16 . J0.2916 . J0.0036
J1.1664 116.64  0.36
F TH T E?
(a)26/5 (b) 103/20
(c)27/5 (d) 101/20
What is the sum of all the
common terms between the
given series S1 and S2?
S1=2,9, 16,..... ,632
S2=7,11, 15,........ ,743
q T gmenst S1 Fem S2 & weA usft
Iwfe T w1 AW w22

101.

102.

(a) 6974 (b) 6750
(c) 7140 (d) 6860
103. If A =
J0.0004 * 3/0.000008
16000 * 3125000 " ¥810

an

J0.729 " {o0.0016
= , then
Jo.16

what is A x B?

7
(@7 x 107 (b) (Z] x 107

7
()6 x 10%  (d) [g] x 107

IR\ Gagan Pratap Sir

104. What is the sum of first 20

terms of the following series?
1x2+2x3+3%x4+4x5+....
f T gEen F Teat 20 TG T AMT F
22

1x2+2x3+3%x4+4x5+....

(a) 3160 (b) 2940
(c) 3240 (d) 3080
105. What is the wvalue of
7 11 7
—+= + =
2 3 6
11 7 11 7
— o=+, +— +
15 12 35 156
11
575
7 11 7 11 7 11
—t— + =+ — + — + =
2 3 6 15 12 35
7 T L 27
..... 156 =75 <hT HME R T7
(a)3917/355 (b) 3816/325
(c)3714/345 (d) 3216/315
106. If A=0.312, B=0.415 and
C=0.309, then what is the
value of A + B + C?
afg A=0.312, B=0.415
FMC =0.309%, @ A+ B + C #I
A fEa 22
(a) 1141/1100
(b) 1097/1100
(c)1211/1100
(d) 1043/1100
107. What is the value of
V748 JTE+10 IO
J7-J5 J14-J10 0 5 °
(a) 2 (b) 1-42
(c) 1+2 (d) 2+4/2
,1',
<( SSC CGL 2022, g})
108. Find the average of the cubes

of the first five natural num-
bers.
Yo W Wfaw wEst ® S
SHd F Fif)
(a)35 (b) 40
(c) 45 (d) 50

The number 5769116 is di-
visible by which of the follow-
ing numbers?
e 5769116 Ffaftead o ffa
e 3 faeme 37

>

109.

Number System

(a)4 (b) 5
(c) 12 (d) 8

The number 2918245 is
divisible by which of the
following numbers?
wem 2918245 frfatea ® & foa
wem ¥ o 87

110.

(a)3 (b) 11
(c) 12 (d) 9
111. The number 1254216 is

divisible by which of the
following numbers?

= 1254216 frfafes 5 9 few
Ten § fasss 27

(a)5 (b) 11
(c) 16 (d) 8
112. The largest three-digit

number that gives the same
remainder 2 when divided by

3, 5and 9 is I
F i 1 wEQ 7= wen & 3, 5 @R
9 @ fasfsa F W T AIwS 2 A
gaw R
(a)999 (b) 984
(c) 998 (d) 992

113. If the four-digit number

463y is divisible by 7, then what
is the value of y?

afs = stE W wem 463y, 7 ¥
s 7, @ y w1 A w7
(a)4 (b) 6
(c)3 (d) 5

Which of the following
numbers is divisible by 11?
frefafes & @+ @ "wen 11 @
e 87
(a) 5214341
(c) 6598321

114.

(b) 5648741
(d) 2378965
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11.
21.
31.
41.
51.
61.
71.
81.

91.

(c) 2. (b)
(a) 12. (¢)
(c) 22. (a)
(d) 32. (d)
(b) 42. (a)
(b) 52. (a)
(d) 62. (d)
(b) 72. (a)
(a) 82. (¢)
(a) 92. (c)

101. (a) 102. (c)

11

1.(d) 112.(d)

o.‘"))JJ

‘9)#&‘

CHAMPION

3.

13.
23.
33.
43.
B
63.
73.
83.

93.

Number System

ANSWER KEY - NUMBER SYSTEM

(c)
(c)
(a)
(d)
(d)
(b)
(d)
(d)
(d)
(a)

103. (d)
113. (a)

Useful For

CET, SSC, CGL, CPO, CHSL, CDS
and Other Competitive Exams

Gagan Pratap Sir

IR\ Gagan Pratap Sir

4.

14.
24.
34.
44.
54.
64.
74.
84.

94.

(c)
(2)
(c)
(c)
(2)
(c)
(2)
(c)
(2)
(d)

104. (b)
114. (a)

Concept
@
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=

15.
25.
35.
45.
55.
65.
75.
85.

95.

(b)
(a)
(c)
(b)
(c)
(a)
(a)
(a)
(a)
(d)

105. (a)
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16.
26.
36.
46.
56.
66.
76.
86.
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Number System

Hints & Solutions (CGL)

N

SSC CGL MAINS 2018
{11 Sept. 2019}
(c) Let, K= 1 (odd)
o 82k+ 52K = 82 + 52 = 89
~.this nu. must be divisible by
89.

-12
Rationalize it-
-12

= (v2++5)-(V3)
(v2++5)+(+3)
* (V2+445)+43
—12(\/§+\/§+\/§)
7+2410 -3
—12(\/§+\/§+\/§)
= 2(2+410)
—6(\/§+\/§+\/§)
2+410

Again Rationalize it-

—6(\/§+\/g+\/§) 2-410

2+4/10 2 J10
=-6(J§+J§+J§)(2—J_)
4-10

=—6(J§+\/§+I)(2 J10)

(V2+/5+ J—)( -+10)
(c)
7+8x8+80f8+8+8x40f4
4+40f4+4x4+4-4-=+40f2
Follow the BODMAS
Note: ‘of means x (multiply)
7+8x8+64+1x16

1 1

— 14 4=
4 2

7+8><l+16
8

15
4

= 6.4

(c) %(10x+y):x+y
10x+y=7x+"7y

X 2m
y Im’
2m-m=4,m =4

Digits =x=2m =2 x4 =8

x-y=4

I\ Gagan Pratap Sir

x _2m
y=m=1x4=4 3y 1m

. Numbers is 84
Reverse digit no. = 48

48 .
7 remainder = 6

(b) Ans will be the HCF of these

numbers.

Use difference method to find HCF.
7897 8110 8536

NN

213 426

N

213
HCF is 213.

Sum of the digits = 2+1+3 = 6

(a) (260f4——2j x 1% +

53
4°73 2 4

Use 'BODMAS'
(20 2 3) 10

7 5 2

g

(c) LCMof 12, 16, 18, 20 and 25
is 3600
3600xk +4
7

Use remainder method-
2k +4

7
when we put k = 5 then
number will be divisible by 7.
- number = 3600 x 5+4= 18004
number 8 is in thousand place.
(a) 389x 6378y is divisible by 72
means the number is divisible
by 8 and 9(factor of 72).
Divisibility rule for 8 — last 3
digits must be divisible by 8.
Divisibility rule for 9 —» sum of
digits must be divisible by 9.
Now follow the Rule we can find
that
x=6, y=4

6x+7y

= +36+28 = /64

>

Number must be =

Il
[+

9.

(d) x = (633)** - (277)* +(266)>*
Cyclicity for unit place is 4. so
devide power by 4

so x = (3)* - (7)* +(6)°

=81-49 + 36 (-
bigger than others)
=117 -49=17-9=8

first no. is

—_

. (a) Let, total students = 108

(Multiplication of 12 & 9)

4 108
Girls Boys
5 48 60 4
12
morethan lessthan morethan lessthan
12y 12y 12y 12y
20 28 24 36
total st. less than 12y = (28+36)
= 64
64 unit = 480
108 unit = 46840 x108 =810

5
— of 810 = 225

18
12. (¢) 22.4+11.567 - 33.59
= 22.444....+11.56767....-
33.5999
= 34.0121 - 33.59
34.01211
_ -33.59999

41212 - 0.412
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13.

14.

15.

16.

17. (a)

SSC CGL MAINS 2018
{12 Sept. 2019}

(c) x>y>z
x_ 9 —0.0625
A 16’y
_E_L l
Y16 16797 2
cyrpm 113237
XYTZ= S04 0g
o7 1 _25
2T 04 2077 og
(a) 5678x43267y

72

AN

8 x9

Divisibility rule for 8 — last 3
digits must be divisible by 8.
8)67y (8
64
3y>y=2
32

0
Divisibility rule for 9 —» sum of
digits must be divisible by 9.
5678x432672

9
50+x

54
=9 (x should be 4)

Ao

X

<1

5x+8y=+/5%x4+18x2=6
.20 28
5 3.8.56

4395

=1+k

¥
M\.O\]‘
X

w EU'I‘

= 1+k

K=-0.063
lies b/w = -0.07 and -0.06

(a) \/1o+2(£—\/ﬁ—\/ﬁ)
Make perfect square

J10+2V6 - 2415 - 2410

b xc c x a

3 S
J(V3+ B 5) = \@+I J5
(Because multiplication a and
b is positive)
(0.545)(0.081)(0.51)(5.2)
fn 001} / 0. 545)

a><b
3

/n Qfm\2

B\ Ggan Praiap Sir

~ZZ 1)

18.

19.

20.

21.

22.

a®+b3+c® = 3abc
If atb+c =0
at+b+c=0.324+0.221-5.45=0
(0.545) x0.081x0.51x5.2
3x0.324x0.221x-0.545
(a) 3600 = 24x32x52
Number of factros =
(4+1)(2+1)(2+1) =
(c) x = (164)1%°+(333)%7 —(727)7%¢
= (4)'+(3)'=(7)*
=4+3-9=7-9=17-9 =8
Because sum of first two
number is more than last
number.
(a) LCM of 15, 18, 20, 27 is 540
. no. =540 K +10
but it must be divisible by 31.
540K +10
31

S27K+13K+10

31
13K +10 _

31 .K=4

Number = 540x4+10 = 2170
(47)? = 2209
Hence to make it perfect square
39 must be added
(c) Let, number = 10x+y
(10x+y) (x+y) = 424
(10y+x) (y+x) = 280
After Dividing
(10x+y)(x+y) 424
(10y+x)(y+x) 280
350x+35y=530y+53x
297x =495y
X _ 5
Yy "3
5+3 =8

(@) 0.56%0.723+0.39%0.7

_XO7=(39—3)X(1)
0.39 % 0. 90 9

36 7 28

=50 %9 90 ~031

0.56-0.723 + 0.31
0.56+0.31-0.723
Non-recurring digit = 1
LCM (Recurring digit) =
=2

. no. =

(1, 1, 2)

LCM part

X X X

0.5

+ 0.3
- 0.7
0.1 S 4 5 4

=0.154

N~ O
W= O
N —= O
W= O

Altenatively:-

0.56-0.723+0.39%0.7

Number System

56-5_723-7 39-3 7
90 990 90 9

51 716 28

90 990 90

79 716 869-716

90 990 990

153

—=° - 0.153
990

23.
4+27x5+9

5
—9X2—64+8 10-30+16+ 27><§

~90+32-75+600
9 40
_722-75 647

40 40
SSC CGL MAINS 2018

{13 Sept. 2019}

(3)61284 (8 1)20428 _l
5 5

24.

(c)
x=1
4% 4

6 6

any power of 4 divide by 6 gives

remainder 4.
y=4
2x-y=2x1-4=-2

(€) V28 +1043 -7 - 443
= 28+ 2475 - 7212

- 25 B - [
-5+ /3-2+3

= 6.464

= 6.5 (approx)

(d) 0.47+0.503-0.39%0.8

47—4+503—5_39—3X§
90 990 90

43 498 32

90 990 90

43%x11+498-32x11
990

619 625-6

T 990 990

=0.625

2,10
27. o) TR T7

25.

26.

CHA&PIDNPUBLICATIDN

(a) 9x6+24+8+2 of 5-30+4 of



28.

Rationalize first part
2410 (W5 +42)+47
W5 -VT)+2 (5 +v2)+ 7
_2V10(/5 ++/2 ++7)
7+2410 -7
= 2+5+47
Rationalize second part
_5-2 5-2
J5+2 V5-2
5+4-45

 5-4

9-45

=\5-2
Rationalize third part

3 J7+2 3J7+6_J_
\/_ 2 ﬁ+2 7-4 7+2
=2 +/5+47 (5 -2)-(7 +2)
=3 5T 5427 -2 12
(a) 24x2+12+12+6 of 2 + (15+8x4)
of (28 + 7 of 5)
Follow BODMAS

o (B
L2 5
41 =22
2 5
1 1
4+g—4g
29. (a)9i+11%of% +(1éxl%+gj
5L g e L2
6 3 3 3
_85 .34 1 ,.18.2.8
9 3 6 6 3 9
85 17 13 2 9
=— 3+ —+4X—X—X—
9 9 6 3 8
85 17 13
"9 92
_5,13 _23
2 2
Diff. between correct answer
and his answer —19l—§
4 2
77 23
4 2
31
T4
_73
4
I\ Gagan Pratap Sir

30.

31.

32.

33.

(a) 5432y1749x
72

8 x 9
Divisible by 8 — Last 3 digit
Divisible by 9— Sum of digit

8i49xi6

48
1x =6
16
x=6
5432y17496
S+4+3+2+y+1+7+4+9+6

9

y=4
Sx-4y=5x6-4%x4=14
127°7 +97°7
32

(127)" (97)”

32 ! 32
)", O
32
-1+1

(d)

(d) Larger Smaller

Xy
x—-y=2001
y=x-2001
y)T(g

1

41
9y+41 =x
9(x—-2001) + 41 = x
9x—-18009 + 41 = x
8x = 17968, x = 2246
Sum of digit = 14

D

34.

35.

36.

Number System
SSC CGL MAINS 2019
{15 Nov. 2020}
(c) (2.4 x0.6x3%0.16)

x[0.27 x(0.83+0.16)]

(2+ )xéxi’: 16—1
9/ 9 90

{27)(83 8 16 1}
99" 90 90

(Bl (259
9 6 11 6

_22 15 22 5

= X
27 11 9 11

(b)x— y = 1280 ..

iji7

50
. x=T7y+50 ...(i)
Put the value of x in equation
(i)
6y = 1230
y=205
x="T7Ty+ 50
= 1435 + 50 = 1485

1 53 8

a=

4x1-5+3x2
4-5+6 = 5

Alternatively:-

1 45

CHA&PIDNPUBLICATIDN



37.

38.

39.

1 1 41.

Cc—— —

After comparing
a=1, b=5 c=2
the value of (4a-b+3c)
=4-5+6 =5

(a) iof2i><12— 31—2l -
7 5 3 2 6

(31 + 4l of 51)
) 2 3
Use BODMAS operations

[

=10
(b) Denominator = x
Numerator = x +3
(x+3)+5_8

x-2 3
3x+ 24 =8x-16
5x=40
x=8

. x+3 11
Fraction = = —
X 8

1
After dividing byE

(V1875 1200)
(©)x =\ 3888 ~ 768 ) * 793

(253 2043) 57
*=|36v3 " 16v3) 1647

Do square root both side

Jr- 16

36 20_

ﬁTz

175

I\ Gagan Pratap Sir

40.

42.

43.

44,

15(@%/5)

(c) J10 ++/20 + /40 — /5 - /80
15(~10 ++5)

T 10+ 245 + 2410 -5 -
_15(\/5+x/§)

- 3J10-35

M S(Jﬁﬂ/g)g
= (\/ﬁ—\/g) jf

= 10+5+1042 = 5(3+242)
(a)3+18 of 3x6+21x6+18-
3+2+3-3+9 of 3x9
=3+54x6+21x6+18-3+2+3-
3+27x9

45

L3
=3 T

2+42-9+18-6 47
= 6 6

® 3% 30y (1 3020
17 24
x=31x1+17 = 48
y=>31x1+24 = 55
z=>31x1+27 = 58
Now,
=4x-2y+ 3z
= 4(48) — 2(55) + 3(58)
=192-110 + 174
=366-110 =256
When 256 is divided by 31 the
remainder will be

31) 256(8 — quotient

248

8 —> Remainder
. Remainder is 8.

0.0203x2.92
(8) §.770.0365x2.9 *
(12.12)2-(8.12)2
(0.25)2+(0.25)(19.99)
Take first part
203x292 292 4

T 7x365x29 365 5
Second part

(12.12+8.12)(12.12-8.12)

T (0.25)(0.25+19.99)
20.24 x4

~(0.25)(20.24)

27

4
1st part + 2™ part =———= 16

0.25
1'16—L—L—005
5 " 5x16 20
(d) 1062 1134 1182

_A_A
72 48

24

D

45.

46.

Number System

the greatest number 'x = 24

Remainder in each case=y = 6

Now (x —-y)=24-6 = 18

() 535ab

5+5+b = 3+a

hereb=2,a=9

After that the 5 digit number

53592 is divisible by 3, 7& 11.
s.a’~b%*tab = 81-4+18 = 95
SSC CGL MAINS 2019

{16 Nov. 2020}

(c)columnl— Max no.

which no bar after decimal

column2— LCM of no. which

have bar (Ex. 1,2,1 means 2)

column3— take two digits for

on

47.

48.

49.

accuracy
columnl column2 column3
X X X X X
0.5 7 5 75
+ 0.3 5 3 53
0.9 2 9 2 8
-0.4 3 2 32
0.4 9 6 9 6
=0.498

(bar should be on middle
numbers)
(d) Divisibility rule for 3 —» sum
of digits must be divisible by 3.
Divisibility rule for 11 — The
difference between the sum of the
digits in the odd places and the sum
of the digits in the even places
must be zero or multiple of 11.
235xy

A
2+5+y = 3+x

v o
2 6
~3x-4y =18-8 =10
(b) First condition
X — Numerator

2x +4 — Denominator
Second condition

x+3 2
(2x+4)-3 3
3x+9=4x+2 =>x=7
Difference = 2x + 4 — x
=x+4=7+4=11

(d) y11-348 =a +b2

Try to make perfect square

JB-V27 =a+b 2
-2 =a+b 3

After comparing:-
=3,b=-1

The value of (2a + 3b)

=6-3 =3

CHA&PIDNPUBLICATIDN



50.

51.

52.

53.

54.

gL 2
(’x+ 179
N 2
g
Z+—
4
Reverse the equation-
x+; 2+21
5= z2
y+ - 29
Z+=
4
x=2
2
y+ =1+—
SR
~y=1
2 8 21
SN —_Z
z+ Ll 21 4 4
_ 28 1
27 474"
2x+3y-2z
2x2 +3x1-5 =>4+3-5=2

1
8

31'4l f 5l+ 1
Hegsvg © g 2

1 1(1,.1.1
of 7-% 1278 4

Use 'BODMAS' operations.

24
2 1
15 4
8+60-15 53
" 60 60

(b) 2 digits prime numbers =
11, 13, 17, 19, 23, 29, 31, 37,
41, 43, 47, 53, 59, 61, 67, 71,
73,79, 83, 89, 97

2 digits number in the form (ab)
and (ba) = (13, 17, 37, 79) and
(81,71,73,97)

Sum of such numbers =
13+17+37+79+31+71+73
+ 97 = 418

(a)4+12 of [3+4 of {(4 — 2)x6+2}]
2x6+8+3

= 4+12 of [3+4 of 6] -2x6+8+3

=4+H0fé—2x8+3

8 3 , 16-9418 25 ,1
3 2 6 6 6
(b)os5 1027 1075
72 48
~—_ 7

24
x = 24 = Factor of 24
=1x2x3x4x6x8x12x24
. 16 is not a factor of (x = 24)

I\ Gagan Pratap Sir

56.

56.

(c)

202 042

When we subtract 20 from
10424 it will become a perfect
square number.

x =20 = 2x2x5

We have to multiply by 5 in 20
to make it perfect square no.

(a) 27 x(0.25)° +125(0.05)°
(0.75)°-0.25%0.5
= 27(0.25)" +(0.25)°
9(0.25)° -0.25x0.5
(0.25)° (27 +1)
~(0.25)[9%0.25-0.5]

_ 0.25x0.25x28 _
B 1.75 B

7+3J5 7-35

57. @) 375 "%
(7+3V5)(3-+5)-(3+5)(7-35)

EGeey

21-75+9J5-15-21+9J5-75 +15

4

44/5
-4£:=¢§==223
Lie between = 2 & 2.5

Alternatively:-

7435 7-3J5
3+/5 3-45

Rationalize first part
_7+3J5 3-45

" 3446  3-45
_21-7/5+9J5-15
P 4

_6+2\5

4
Rationalize second part

7—3J§X3+J§

3-45 "3+

_21+7J5-95-15
4

_6-245

4

(i) - (i)
=6+2J§_6—2J§

4 4

6+2y5-6+2V5 5
R I I

Lie between = 2 & 2.5

D

58.

59.

Number System
(d) Let, quotient = 1
a=13x1+9=22
b=13x1+7=20
c=13x1+10=23
a+2b + 5¢c =22+40+115=177
When 177 is divided by 13 the
reminder will be 8.
SSC CGL MAINS 2019
{18 Nov. 2020}
(d) divisor :Quotient:Remainder
15 1 : 5
Ix8 Ix8 Ix8
120 8 40
Dividend = 120x8+40
960+40 = 1000

Alternatively:-

61.

62.

Let, Dividend = D

divisor = d

Quotient = Q

Remainder = R

d=15Q=3R

R =40

d=3x40= 120

15Q = 3x40 = 120

Q=8

D=dxQ+R
=120 x 8 + 40 = 1000

(b) Let, the Numerator be N and
the Denominator be D
D-N=6 ...(i)
N-1 1
D+5 4
4N-4=D+5
4N-D =9

Add eq. (i) + (i)
BN=15= N=5
using eq. (i)
D=5+6=11

N 5

D 11

...(ii)

1
(b) o5 = 0.2346

1 ( 1 J _ 0.2346

10*(4.263) 10*
1

0.0004263
1

0.0004263 _ 2346

(d) Let, no. =10x+ y

First condition:- y-x=2

Second condition

(10x+y)(xt+y) = 460

put, y=2+x

(10x+2+x)(x+2+x) = 460

(11x+2)(x+1) = 230

11x* + 13x =228

x=4

LY=2+x=2+4=6

~.Number = 10x +y = 46

CHA&PIDNPUBLICATIDN

=0.2346%x10*



Alternatively:-

63.

64.

65.

using options

only 46 satisfy the given
conditions 6 — 4 = 2

46 x (4 + 6) =46 x 10 = 460
(d) No=LCM 0f(12,18,24,30)k +4
= 360k + 4 ...()
360k + 4

7
B 357k +3k +4

7
3k+4

7
344 7 | Rimainder = 0
7 = 7— 5 imaindaer =

k =1 put, in (i)

No = 360 x1 + 4 = 364

(d) 5- [96+40f3-(16-55+35)]
5-[96 + 4x3 - (16-11)]

S -[8-79]

=5-3=2

(when k = 1)

1 1 1

11
(0753563 * 90 143

15 35

1 1 1 1 1
= + + + +
3x5 5x7 7x9 9x11 11x13

Alternatively:-

66.

1 1 1 1 1

—t——t+t——+—+
15 35 63 99 143

7+3) 1(1 1 1
= | —— |+ =+ —|+—
(105} 9(7 11} 143

_ 10 18 . 1
7x11 11x13

1
+ —x
105 9
2 2 1

+ +
3x7 T7x11 11x13

2(1 1 1
= ==+ |+—
7(3 11) 11x13

2 14 1
= y——
7 3x11 11x13

1 (4 1
- | —4—
11(3 13J
1 55 5

11739 ~ 39
(a) Ratio of numbers

I . 1II ;10

2: 3

4 :5

8:12 :15
(8+12+15=35) unit = 280
1 unit =8
Il no. = 12 unit = 12 x 8 = 96

I\ Gagan Pratap Sir

67.

.|

68.

69.

70.

71.

5 _8+2/15 1
(a) 4 (8+2415)
8+2Jﬁ+ 1x(8-2415)
4 (8 +2+/15)x (8 — 24/15)
{(8+2\/ﬁ)+(8—2\/ﬁ)}
=5_- 2
B LG
=5-, = _4 =

(d) Sum= 6 + 8 + 10 + 12 +
...t40=2 (3+4 +5+6 +
20)

Add (1+2-1-2) for making
series complete
=2{(1+2+3+4+5+...... +20) -1- 2}

-9 {%(1&0)-3}

=2{210-3} = 414

n
[sum of n terms = E(first term

+ last term]

b E—07—
(b) —=0.7 =
a=10,b=7
a-b 11

y ==
a+b 34
10—7+£
10+7 34

3 11
= L=
17 34

(c) (30)° x(24)°

= (2x3x5)° x(23x3)°

= 220 X 310 X 55

For total prime factors (add
power)

=20+10+5

=35

72.

73.

(63+4lof51J+(§x
5 2°°3)%\%

74.

75.

Number System

SSC CGL MAINS 2020
{29 Jan. 2022}

(b)0.46 +0.723 -0.39 x 0.7
By using rule of Bar:-
46—4+723—7_39—3 XZ

90 990 90 9
42 716 36 7

90 " 990 90 “ 9
Divide & multiply by 11

_ 462 716 308
990 ' 990 = 990
870 87 _

4,20 28) (32 9 16
=3 7 5)*s5 2" 3
éxg;ixé

43 9'5) "k

4 32

2116 e, V' I
= (3+18) « (524

(3 8 QJ

—X—==—| =

43 3

(4 1) (32 1) (3 8 3
S| ox—= x| —=x=—=|+|=Xx=x=
3716/ \5 24/ 473
14 1
12 "15 "3 °
:ﬁ=k

=k = 0.00740
lie betweem 0.007 & 0.008

(d) Let, two positive number are
xand y
A.T.Q.
X+ y=65
Jxy =26
Xy =676
1,Ll_xvy 65 8
x Yy Xy 676 52
6 1 2 1
2—of4=+= — .
(b)( 70 5 3Jng.
(§x220f1+l]
3 2 4

oo
S =
® &
=
N\
N
©|@
X
Ny
N—

CHA&PIDNPUBLICATIDN



Number System

76. (a)Unit digit of (433)2* = 1 SSC CGL MAINS 2020 86. (a)571+572+5™+575
Unit digit of (377)* =9 {03 Feb. 2022} = 571[1+54+52+5%+5°]
Unit digit of (166)> = 6 82. (a)  [a’+b? = (a+b) (a%+b*ab)] = 571[1+5+25+125+625]
A.T.Q. 1 10x10 =5 x 1781
1-9+6 = 2 = 100x100x100 < 1 781 is divisible by 71
To make it positive, add 10 x(253+247) Hence, the given number is
=10-2=8 500 e divisble by 71
- —_—— = X =
77. (b)847 x 385 x 675 x 3025 = = 100 x100 23
32x 5Px 7°¢x 114 — 5x102= 50x10X K= -2 87. (a)x+ty+tz= —
. - 12
After doing factors Alternatively:- 5 5 -
33x55x72x115 = 3ax5bx7cx ] 1d ) 5 zZ_2 g 2L
After comparing:- (57 (Bt x 2 2 Y74
a=3 b=5 c-2 d=5 25.3x25.3-624.91+24.7 x24.7 5 7
—ab-cd =3x5-2x5=5 (2.53+2.47){(2.53)2+(2.47)2+(2.53x2.47)} Y= 572
78. (a)Divisibility rule for 8 — last 100[(2.53P(2.47F + (2.53 x 2.47 3
3 digits must be divisible by 8. [PEeyp - PeRnei] > Y=g
7B6 +8 = here B must be 3 S 23 3 14 7
Divisibility rule for 9 — sum of 100 xtg=2 2 _ L
v Ot ATQ 12 4 12 6
digits must be divisible by 9.
7+5+4+6+2+A+9+7+3+6 S5 _ " - 5 ( z 5)
49+A = Here A must be 5 100 FlE = k== do 25 = 7(X+Z) “x 2
75462A97B6 83. (c) 11. 44 4444 5
I 4 + 22, S6 7676 L z= = (xt2)
5 3 34. 01 2120 7
_ S 7 5
- T, ©)
= J8x5-4x3 = /28 —
79. (b) 0.412 e Bl _ L
5 2 Note:- In middle column two 7 6 3
l+[(20'35) ~(8:35) ]XO'0175 digits are reserved because S 1 1
4" (1.05)"+(1.05)(27.65) LCM of (1, 2, 1) is 2. _ZTX _6 3_ 2
1 (12)(28.70)x0.0175 1,2, 1is > 114 — 1 digit bar yox %—% %
=37 (1.05)(28.70) 22.567 — 2 digits bar L 12 @
L [22‘22 = (‘;’b) (a-D)] 33.59 — 1 digit bar =55 ~5=>6:5
O e o >t 2 In column three write 1 1
45 20 20 minimum 3 to 4 digits. 88. (d) 70 7 "10
80-@ ., |, 8% (dILCMof36, 72,80, 88 is L1 1
S———=x15—+4+2—=+1-—+ 36=22x32 = 72=23x32 42 -6 7
e & 4 85 25 80=2¢x5 = 88=2%x 11’ 120
C ot e e LCM = 2%x3251x11! 1 _2 1
4 4 5 15 =16x9x5x 11 66 11 6
28 8 68, 18 A = 144 x 55 = 7920 3 1 2 4
x= 43 74 428351536 Common diff. = 36-16 = 72-52 286 2 11 13
—X— = x— = 80-60 = 88-68 = 20 3 143-52-88
4 271 5(? 49 .. Required number ( 286  2x11x13 J
29 27,50 = 7920-20 = 7900
(-4 4.3 3 Sum of digits = 7+9+0+0 = 16 L _ & 3
l+E 13 1111 5 .2 130 13 10
A i 13 s
Ytx= = sy=-s-—= = — 1 1 1 1 5 170 10 17
13 13 13 13 =0+ §+§+Z 6 52 Now put all value:-
81. (a)x>y>z 1 1 1 1 2 1 1
1 1 1 1 54 LT R B S
z 9 9 el S i L T = ¥ w7 w7
Z=—=— S y=—-0.0625 —972 3727675 7 10 6 7 11 6 2
x 16 16 2 4 4 3 3 5
go2_ L_8 1 “or f3raesed) N 1'6 1071017
16 16 16 2 2 3 45 11 5
5+108 = 4o
ety - 27 - {30+20+1 + } 0 2717
o 162 o . L _ -17+85-50 18 9
e 2L © 28 Y e (ﬁ] _ 9,060 _ 540 170 170 ~ 85
12 12 12 4 L e0 173 173

IR\ G2gan Pratap Sir @ CHA&PIDN PUBLICATION



89. (b)

15 8_§0f§ 90,2 (52.5],3
37 16)\8 4) (32 7)'8

15 5 3277

= ——— of —+

8 4 2732 32
1515203

8 8 328
20 3

(a )\/2+«/_ \/2—«/5

2 2
Multiply and divide by

e [

90.

3
i)

2

\/§+1 ’

- 2
\/§+1_
\/_
2

Nl

=1

1
+ =
2

N+

+
.C
(a)P 25
q=49
r=9
s=4

p-q-1_
r—S

1
(1, 5, 25)
(1, 7, 49)
(1, 3,9)
(1,2, 4)

25-49-1
9-4

91.

5

JQ

now, Go through option:- (a)

= —s-1 gives -5
121

92. 60

(a) A+B+C =

w
[
|
|
[
wlN

I\ Gagan Pratap Sir

(satisfy)

93. (c)

94.

95.

96.

97.

98.

99.

789x6378y
8x9
Divisibility rule for 8 — last 3
digits must be divisible by 8.
e
Divisibility rule for 9 —» sum of
digits must be divisible by 9.
S2+x
9
Lxy=> 4x2=8
SSC CGL MAINS 2021
{08 Aug. 2022}

(@) ¥216=6 = ¥/343=7
N lies between 6 & 7

. N will be 217 to 342

~. Total = 126 = (values possible)
(d) Two digit number = (10x+y)
after reversing digit = (10y+x)
condition I —
(10x+y)~(10y+x) =
10x+y-10y—x = 36

9%9y =36 = (xy =

~. Difference of digits = 4 (True)
Condition II

Atx=8and y=4
(10x8+4)—-(10x4+8)

84-48 = 36 (True)

Condition III

atx=7and y=3
(10x7+3)(10x3+7)= 73-37 = 36
But this is prime number

. 3rd condition is not true.

~. Only I and II

(d) x+y +z =70

oyl
2 31 37

.. Value of z may be 37

(d) 466, 566 = 2

From 606 to 696 except

666 = 9 numbers

From 660 to 669 except

666 = 9 numbers

. Total = 2+9+9 = 20

(d) Total numbers from 53 to 97
=97-53+1 =45
Total prime number from 53 to
97 = 10
Total composite = 45-10 = 35
(a) Multiply each fraction by 100

= x=2

> 100 500 45.45
2 . _ 29y

11 11 :
7 100-"20 583
D 12

8 100-3 615
13 13 :

2 100-22_509
7 17 :

5
. clearlyﬁls least

Number System

Alternatively:-
Take two terms and compare

%X% cross multiply 60<77
5 7
SR
11 12
Now take smaller of these two
number and check with next.

5es8 . 5_8
iT§<13 11 13
5¢#79 . 5 _9
o7

11°17

gLl T
11 is leas
100. m)
15

99—+99—+99—
99 99 99

67-11
Total terms = +1 = 29

2
67}
99

11 13
—99><29+—[11+13+ ..... 67]

99—
99

= =
99x29+{99 50"

99><29+i x 22
99 2

[22+56]

99><29+L x 29 xX78
99 2

29x13
33

13
= 99 + —
29( +33j

S
29 33

99x29+

_29x3280
- 33
95120
- 33

54 0.54 0.06
(c) + +

1.08 10.8 0.6

(l) o)
—102"’5 2+ﬁ

101.

1 1 100+1+2 103
20 10 20 20
102. (a) First common term = 23

common difference of S1 = 7
Common difference of S2 =
LCM of (7, 4) =

23,51, .......

Last term = a+(n-1)d<632
23+(n-1)28 < 632
23+28n-28 < 632

28n-5 < 632

28n < 637

n<22.75

n=22

sum =% [2a+(n-1)d]

11[46+21x28] = 11x634 = 6974
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103. (c)

J/0.0004 * ¥/0.000008
16000 * 3125000 * 810

30.729 " ¥0.0016
Jo.16

A~ 0.02x0.02
~ 4160000 %81 x50

and B =

4x10* 4

=—=—><10_7
20x3x50 3

=O.9><O.2 =2><10'1
0.4 2

4 9
=—x107" x=x10"
AxB 3 ><2

= 6x10%
104. (d) Sum of this series will be
n(n+1)(n+2)
8

_20x21x22
- 3
105. (b) Here two series are mixed

7 7 7
e Al
2 6 156

11 11 11
— =t =
(3 15 575)

Take first series

= 3080

l+ Z + + L
2 g o 156
AN A VAN
1x2 3x5 12x13

11, 11 11
?‘F /1—3‘*' ........ 575
1/x\3 3%5 23x25
11 {I_L}_@
2 25] 25
Now add both
84 132 _2100+1716
13 25 325
3816
~ 325

B\ Ggan Pratap Sir

106. (a)
_ 312-3 309 103
A=0.312= 7995 ~990 ~ 330
_ 415-4 411 137

B =0.415="950 990 ~ 330

C=0.309="69p =

103 137 31
. A+B+C =%+% ﬁ
1030+1370+1023 3423
3300 3300

_ 1141

1100
7+J5 14-410 10
J7 -5 Jia+410 * 5

75 2V7-V5) g5

1

5 R(T5)
5

% +2=1+2
<( SSC CGL 2022Tie,_11}2‘_§>

Al

107. (c)

ﬁ

108. (c) Average of cube of first
1 2
n natural number = w
5 2
_, Sx(5+lF
4
5x36
= =) 45

4
(a) Since last two digits are

divisible by 4, hence given

number is divisible by 4.

109.

110. (b) Digit sum = 31
Digit sum is not divisible by 3
or 9 hence the number is not
divisible by 3 or 9. Since the
number is not divisible by 3.
Hence it will not be divisible by
12.

. The given number is
divisible by 11 only.

111. (d) If last 3 digits of a number
is divisible by 8, then it will be
divisible by 8. Hence, 1254216
is divisible by 8.

Number System
112. (d) LCM of 3, 5, 9 =45
999 _ 22 +9(R
45 (R)

. 990 is divided by 45
. Required no. =990 + 2 = 992

113. (a) 75 383},{662

43
42

ly
14:>
Ty=4
114. (a) Rule of divisibility of 11—

* Add alternate digits and take
difference.

o If difference is O or multiple
of 11 then the given no. will be
divisible by 11 otherwise not.

N\
5214341
NN NS

5+1+3+1=10
2+4+4=10 diff. = 0

. given no. will be divisible by
11.
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Simplification

@Y surirication a3

fsu U =wE w1 UE AW HifS)
3-(6){-2-9-3}+7{1+(-2)

({ ssccer2022,,,2)) 3 202020200 = ?

a)4 b) 6 L
L. 841681 -7 EC))S :d;Q ( 1)1 b) 15
(a)5 (b) 6 4. [76-{90 +5x (24 —36 = 3) + 3}] @)~ ®
(c) 4 d 7 (a)71.5 (b) 75.5 7 @1
2. 30-[40-{56-(25- 13 - 12)}] (c) 4 (d) 77.5 6, 07x0.7x07+03x0.3x03
(a)38 (b) 22 5 Bind (he velue of wiven 0.7x0.7-0.7x0.3+0.3x0.3
(c) 14 (d) 46 expression. (a)2 (b) 1

(c)3 d -1
ANSWER KEY - SIMPLIFICATION

1. d 2. (d 3. (@ 4 () 5 (a) 6. (b

<%<i"(ﬁ’ Hints & Solutions (CGL) ) %‘Zlf>

<( SSC CGL 2022ﬁe,_ujg>> 4. (0)[76- {18 x 12 = 3}]

=[76 - {18 x 4}]
1. (d)/8+1681 = 8+41 :[476_72]
= 49 =7 (a)3 - (-6) 14} + 7 {1 + 2}
= 3-84+21
2. (d)30-[40-{56-0}] b, 5
=30 - [40 - 56] - -1
=30 - [-16] (b)
=30+ 16
- 46 a’+b® _ (a+b)@®-ab+b?)
a’—ab+b? (a2 —ab +b?)
3. (a)x= \/20—\/20—\/20— ....... o L
=M—1 = 0.7+03=1
2
_ A4x20+1-1
2
_o-1_,
X = 5 -
I\ Gagan Pratap Sir CHASPIAN ¢ ysLication



LCM & HCF

&)

LCM & HCF (g«H qHmere: 3N Hgxd garadah )

SSC CGL MAINS 2018
{12 Sept. 2019}

The HCF of two numbers is 21
and their LCM is 221 times the
HCF. If one of the numbers lies
between 200 and 300, then the
sum of the digits of the other
number is:

T st H1 HewH qHTAaE 21 § 3R
ITHE AIAH THIAE, FEAH AR
w1 221 T ¥, A% 37 st § ° uh
200 ¥R 300 % == %1 &, a 3=
T ® TR H AN e
() 14 (b) 17
(c) 18 (d) 15
SSC CGL MAINS 2018

{13 Sept. 2019}
The LCM of two numbers x and
yis 204 times their HCF. If their
HCF is 12 and the difference
between the number is 60, then
x +y =?
T demst x R y w1 AIHH G
I TEHH THOEAEE | 204 o0 71 A
ITHT HEH THEGER 12 0 Wt &
= A R 60 B, A x+ y=?
(a) 660 (b)426
(c) 852 (d) 348
In finding the HCF of two
numbers by division method, the
last divisor is 17 and the
quotients are 1, 11 and 2,
respectively. What is sum of the
two numbers?
afy faasm fafy @ D wemet @
HEH HIIEE 1 O W, AT Tew
17 ¥ &R SThel %oer: 1, 11 3R 2
W T T, 9 S RA gEmet w1 An
M B

(a) 833 (b) 867
(c) 816 (d)901

SSC CGL MAINS 2019
{18 Nov. 2020}

The sum of two positive
numbers is 240 and then HCF
is 15. Find the number of pairs
of numbers satisfying the

given condition.
F wFEEE FEme F A 240 ¥, ¥R
371 589, (HCF) 15 1 &1 & vid %1

Tg= F Al qEemst & g B W
A HIfU

(a) 4 (b) 8

(c)2 (d)5

SSC CGL MAINS 2020
{29 Jan. 2022}

The sum of and difference
between the LCM and HCF of
two numbers are 512 and 496,
respectively. If one number is
72, then the other number is:

T Heme & wgaH wuveeE (LCM)
S Hewd wEdAd® (HCF) =1 4 aen
IuF A H SR FE: 512 I 496
1 % o ¥ T wew 72 3, @
T w22

(a) 80 (b) 40

(c) 64 (d) 56

SSC CGL MAINS 2020
{03 Feb. 2022}

Three numbers are in the ratio

1 2 3

between the greatest number
and the smallest number is 33,
then HCF of the three numbers

1S:

If the difference

1 2 3 A
# "ey E.g.zsﬁaﬂwﬁél
1 3R 33 ¥, @ d wEmst 1 Hewd
wavEdE: (HCF) fwaan smm?
(@)9 (b) 5
(c) 13 d 11

<< SSC CGL 2022ﬁe,_ni"’>>

7.

The product of the two numbers
is 1500 and their HCF is 10.
The number of such possible

pairs is/are:
% wemst w1 PERA 1500 ® IR
S AT (HCF) 10 81 @ denfa

I H N 2R
(a)l (b) 3
(c)4 (d) 2

The LCM of x? - 8x+ 15 and x? -
5x + 6 is:

X2 -8x+ 15 3R x2- 5x+ 6 FH AM.
.2

a)(x-2) (x-3) (x-9)

b) (x- 6% (x+ 1) (x—3)
c)(x—6) (x+ 1) (x—3)

d) (x+ 6) (x+ 1) (x-3)

If the highest common factor
(HCF) of x and y is 15, then the
HCF of 36x* — 81y? and 81x% -
9y?? is divisible by .

T x R y F IToAAT GE OGS
(HCF) 15 %, @ 362 — 8132 &R

(
(
(
(

81x2—9yr#mem? ¥ faws
2l

(a) 135 (b) 120

(c) 180 (d) 90

ANSWER KEY - LCM & HCF

I\ G2gan Pratap Sir CHA&PIQNPUBLICATIDN




LCM & HCF

Hints & Solutions (CGL)

P

SSC CGL MAINS 2018

{12 Sept. 2019}
(d) LCM = 21x221
Let, number = 21x & 21y
First nu.xsecond nu.= LCMx
HCF
(21x221)x21=21xx21y
xy = 221— (13x17)
x=17x21 =357
y=13x21 =273
sum of number = (3+5+7) = 15
SSC CGL MAINS 2018

{13 Sept. 2019}
(d) HCF = 12
LCM = 12x204
A B
a a+60
HCF xLCM = AxB
12x12x204 = ax (a+60)
144x204 = a (a+60)

Then,

a=144

a+ 60 =204
A+B=204+ 144
= 348

(c) 34x11+17>34x11+17+34(1

34 i34><11+17i11
17i 34 12

0
N, = 34x11+17 = 391

N,= 34x11+17+34 = 425
N +N, = 816

IR\ Gagan Pratap Sir

SSC CGL MAINS 2019
{18 Nov. 2020}

(a) Let, the no be in the ratio-
a:b

HCF = 15

numbers are = 15a, 15b

15a + 15b = 240

at+tb=16

possible pairs

(1, 15), (3, 13)

(5, 11), (7,9)

Total 4 pairs are possible.
SSC CGL MAINS 2020
{29 Jan. 2022}

(d) LCM+HCF = 512
LCM - HCF = 496
LCM = 504
HCF =8
LCMxHCF = fisrt no.xsecond
no.
504x8 = 72 x second no.
Second noumber = 56
SSC CGL MAINS 2020
{03 Feb. 2022}

(d)A B :C
12 8
[2 3 4
6 :8 :9
A A

3 unit = 33
1 unit = 11

A=6x11
B=8x11
C=9x11
~HCF =11

<( SSC CGL 2022, ‘§>>

(d)Let two numbers are 10x,
10y
~ 100xy = 1500
xy=15
A
1x15
3 x5
. 2 pairs possible.
(a)x*—8x+ 15=x2-5x-3x+ 15
= x(x-5)-3(x-9)
= (x-3) (x-9) ...(d)
-5x+6=x*-3x-2x+6
= x(x-3)-2(x-3)
= LCM of (i) and (ii) is
(x-2) (x-3) (x-5)
(a)HCF (x, y) = 15
Let x=y=15
36x? - 81y? = 45x2
81x2-9y? =72 x*
HCEF of (45x2, 72x?)
= 9x?
=9 x15x%x 15
. HCF is multiple of 135.
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Percentage

&)

SSC CGL MAINS 2018
{11 Sept. 2019}
A number is first increased by
16% and then increased by 14%.
The number, so obtained, is now
decrased by 30%.Whatis the net
increase or decrease percent in
the original number (number to
an integer)?
foreht wem F Teet 16% R R W@
14% =M@ AT €1 $6 JhR W\ G
F 30% T S ¥ qe e o gl
Afs = five =1 gs wfaeE #=0 22
(T qUiss & fHeean)
(a) 6% increse /®! Ff&
(b) 9% decrease /=1 fRmEe
(c) 7% decrease /® firmEe
(d)No increment no decrement
A #iE gfg, T #E fivEe
In a constituency, 55% of the
total number of voters are males
and the rest are females. If 40%
of the males are illiterate and
40% of the females are literate,
then by what percent is the
number of literate males more
than that of illiterate femlaes?
et Fa=m &7 o, @ Tagaet #1 Gen
N 55% ¥ X AT At 21 A 40%
T SR SR 40% Hieard fafim €, @

3TIE Hfeanstt w1 g | fafaa e w1
e Toa wiaem aifee 27
8 2
(@) 2257 (b) 185
2 2
(c) 187 @ 223

If the radius of a right circular
cylinder is decreased by 20%
while its height is increased by
40%, then the percentage
change in its volume will be:
Az fat e Ao # B w
20% T T <@ €, SEf® S8 40%
1 S S 7, q SH e o wiae
i feaT srm?
(a) No increase no decrease/

7 Jfg, 7 ¥ firme
(b) 10.4% decrease/frmEz
(c) 1.04% increase/Jfs
(d) 10.4% increase/3fs

IR\ Gagan Pratap Sir

Raghav spends 80% of his
income. If his income increases
by 12% and the savings decrease
by 10%, then what will be the
percentage increase in his
expenditure?

T AT AT H 80% T B B
af% 3T o | 12% 1 A5 = ©
&R =4 10% %1 =t 2, @ s =4

o fad wfqe 3fs =ri
() 22 (b) 16
(c) 17.5 (d) 20.5

If A is 28% more than B and C
is 25% less than the sum of A
and B, then by what percent will
C be more than A (correct to one
decimal place)?

aftz A, B ¥ 28% aifers 2 991 C, A
ARBHFATT25% FAE A C, A¥

fora wiae st 272
() 28% (b) 33.6%
(c) 43% (d) 32.2%

When the price of an item
redueced by 25%.then its sale
was increased by x%. If there is
an increase of 20% in the receipt
of the revenue, then the value of
x will be:
& TRt s & T ® 25% FA T T,
@ 3T o % & | AR fwt o H
20% =1 g TR 7, A x 1 HA B
(@) 75 (b) 50
(c) 45 (d) 60

SSC CGL MAINS 2018

{12 Sept. 2019}
If 60% of a number is 120 more
than 20% of the number, then
28% of the number is less than

1
33 3 % of the number by:

tr&ﬁo—@rﬁ@nw 60% e gem =
20% § 120 a1 T at H=m 1 28%

e 33%% S

(@) 14 (b) 12

(c) 16 (d) 15

A is 25% more than B and B is
40% less than C. If C is 30%
more than D, then by what
percent is A less than D?

A, B4 25% aifas & 3 B, C @
40% *9 21 4% C, D ¥ 30% aifus®
2, @ A, D@ fra ufaea %9 27

(@) 1.5 (b) 2.5

(c) 4 (d)S

o

10.

11.

1
In a class,83§%of the

number of students are girls
and the rest are boys. If 60%of
the number of boys and 80% of
the number of girls are present,
then what percentage of the
total number of students in the
class is absent?

TE w9 FA foenfE w5 ven | 9
e e 83-% & s e

F afx 7w H 60% wEH W 80%
wefF sufted € A wen 0 e frefeR

A 9 e v faned srquftem 27
2 2

(2) 267 (b) 227

() 23% (d) 12%

A spends 65% of his income.
His income is increased by 20%
and his expenditure is
increased by 25%. His savings.

A ST I A 65% T FIA | SR
o | 20% 1 A5 @ T EE
=9 % 25% I g5 g T IS I o
et Jf/we e 22

(a) Increase by 11% /11% =t 3f&
(b) Increase by 5% /5% =t Ifs
(c) Decrease by 5%/5% ®1 %t
(d) Decrease by 11%/11% T &+t
If the diameter of the base of a
right circular cylinder is reduced

1
by 335% and its height is

doubled, then the volume of the
cylinder will:

A% T TH MAFHR 901 + R H
=g F Ssé%waﬂﬁmw%
AR SHHT FE I H L S S, A
[T T AT T

1
(a) increase by 15% /

1
5%%@”@1

(b) remain unchanged /
FFE AAT &l B
g 1 0,

(c) increased by 1 16 Yo |

1

1
11= % = Smem
0 1
(d) decrease by 115%/
1
11§%aﬁ fimme = sl

CHA&PIONPUBLICATIDN



12.

13.

14.

15.

If the price of petrol increases
by 19% and Sunitha intends to
spend only an additional 12% on
petrol, by what percent sould she
reduce the quantity of petrol
purchased (nearest to an integer)?
f% W2t F HIHG 19% =g T 2, I
T ge W afafe 9 " w2 12%
E FA AR 7, A AT TR SH A
U & A A AR wfaed & owE
FEM? (T Frshean quiw o)
(@)7 (b) 6
(c) 5 (d) 8
SSC CGL MAINS 2018
{13 Sept. 2019}
The radius of the base of a right
circular cylinder is increased by
20%. By what percent should its
height be reduced so that its
volume remains the same as
before?
TF @9 Ja@ qo[ H AER FI
20% =@ A S Bl TWHET FAR B
foraan wfae w9 =2 <o A9 @it 39et
ST Tee S & a w2
2

(b) 30

(@) 25 5

() 30% (d) 28

Monika spends 72% of her
income. If her income increases
by 20% and savings increase by
15%, then her expenditure
increases by: (correct to 1
decimal place)

Tt AT 3T F 72% T B 3
21 9% SUHT 9@ W 20% 1 Afy @
2 st Sg#t o=@ & 15% #1 Jfg @
S 2@ SES e ¥ fea i #
g Bhfi? (TF 9o T T W)
(a) 20.8% (b)20.2%
(c)21.9% (d) 19.8%

The price of oil is increased by
20%. However, its consumption

1
decreased by 85% . Whatis the

percentage increase or decrease
in the expenditure on it?

A F G 20% TH qE S T R

1
wﬁwsg%wwﬁaﬁr%lw

R =@ | fod wfaem Jfg steen w1 522
(a) Increase by 10%

(b) Increase by 5%

(c) Decrease by 10%

(d) Decrease by 5%

IR\ Gagan Pratap Sir

Percentage

16. Basir’s Working hours per day 20. A certain number of students

17.

18.

19.

were increased by 15% and his
wages per hour were increased
by 20%. By how much percent
did daily earnings increase?

FUR F HE-TF wfafd 15% g T
2 SR SUF 391 A = 20% T 97
T SEET 2R o e wfed q

aF TE?
(a) 40 (b) 38
(c) 35 (d) 36

If 25% of half of x is equal to
2.5 times the value of 30% of
one-forth of y. then x is what
per cent more or less than y?

% y = TH-SEE B 30% F 2.5 0
A, x % 9 F 25 % B IR T, @
x, y ¥ Tea gfaer 9 stomn arferk €2

(a) 33%% more
(b) 50% more
(c) 33%% less
(d) 50% less
In an examination, A obtained
10% more marks than B. B
obtained 20% more marks than
C an C obtained 32% less marks
than D. If A obtained 272 more
marks than C, then the marks
obtained by B is:
TF WA W, AY BH 10% 1fuE, B
qC ¥ 20% Afuw 3w W fwy g
C D ¥ 32% &9 3% W fwul af
A®F CH 272 % 1y W< gC, A
B # % fad siF wra gu?
(a) 850 (b) 816
(c) 1020 (d)952
SSC CGL MAINS 2019
{15 Nov. 2020}

2
Anuja owns 665% of a

property. If 30% of the property
that she owns is worth
%1,25,000, then 45% of the
value (in ) of the property is:

I3 % T Rl wafy @ 66%% 2l

o U I SR WO ® 30% H
F7a T1,25,000 &, & Fafa & 45%
#1 ®wma  H) F@ i)

(a) 2,70,000 (b)2,62,500

(c) 2,81,250 (d) 2,25,000

D

21.

22.

23.

frm school X appeared in an
examination and 30% students
failed. 150% more students than
those from school X, appeared
in the same examination from
school Y. If 80% of the total
number of students who
appeared from X and Y passed,
then what is the percentage of
students who failed from Y?

feet whan ® faemem X ® #3 °
wifel §T @R 30% ®H A g
I Then H faErem X # SE #1 gar
T 150% sifars =, fagaea Y @ wfra
T AR X &R Y § wniher g¢ e
FA TN F 80% IO gL E, MY W

ST T BB 1 W9 09 BT
(@) 18 (b) 20
(c) 16 (d) 24

If the radius of the base of a right
circular cylinder is increased by
20% and the height is decreased
by 30% then what is the
percentage increase/decrease
in the volume?

Az fwedt @9 FAF AT ® SER HT
5= ¥ 20% #1 Ff5 w6 7 &Ik v
¥ 30% 1w w6l €, 9 e § gl
wfaea Ffe/HH T FHisa

(a) Increase 2%

(b) Decrease 0.8%

(c) Increase 0.8%

(d) Decrease 2%

Rishu save x% of her income.
If her income increases by 26%
and the expenditure increases
by 20%, then her savings
increase by 50%. What is the
value of x?

fig, ot oM W X% T g AR
IUHT A F 26% HI g A T AN
= % 20% ® 5 el 7, 9 @
TG H 50% 1 g5 e 2l x H A

A FIT)
(a) 30 (b) 20
(c) 10 (d) 25

If (x +20)% of 250 is 25% more
than x% of 220, then 10% of
(x+50) is what per cent less than
15% of x?

Ak 250 & (x+20)%, 220 F x% ¥
25% @I 7, @ (x+50) # 10%, x
F 15% © foat wfoe@ w9 =m?

1 1

(a) 133 (b) 8
2 1

(c) 163 (@337

CHA&PIONPUBLICATIDN



24.

25.

26.

27.

28.

A is 80% more than B and C is

4
487% less than the sum of A

and B. By what percent is C
less than A?
A, B ¥ 80% 31 £ 3R C, A 3% B

% AR © 48;%7*‘11 B C,AY

foraa wfaea &9 872
() 20 (b) 25
(c) 30 ()15

SSC CGL MAINS 2019
{16 Nov. 2020}

If A is 40% less than B and C is
40% of the sum of A and B, then
by what percentage is B greater
than C?

o A, B Y 40% 9 7 3R C, A 3R
B % wMEe %1 40% ¥, 9 B, C ¥
fraa wfaera aiferr 22

1
(a) 60 (b) 405
1

(c) 56 (d) 36
25% of (50% of 30% of 150) _.,

40% of 2250 )
(a) 0.825%  (b) 0.25%
(c)0.625%  (d) 0.225%

The monthly salaries of A and
B are the same. A, B and C
donate 10%, 8% and 9%
respectively, of their monthly
salaries to a charitable trust.
The difference between the
donations of A and B is 3400.
The total donation by A and B is
3900 more than that of C. What
is the monthly salary of C?

A &R B =1 Wifa® aa7 991 21 A, B
&R C T mifas a7 = FA: 10%,
8% X 9% freht wwief T = =M=
FE El A SR B# T % ot 1 W
7400 ®1 A 91X B 5/ T o1 %ot <9
C %1 gom ¥ 3900 #ferk €1 C *

g =9 A HifTT)
(@)%25,000  (b)%36,000
(c)Z30,000  (d)%27,000

Renu saves 20% of her income. If
her expenditure increases by 20%
and income increases by 29%,
then her savings increase by:

T, 9 e F: 20% S ARk
I =4 | 20% Hi s B g AR
o 29% I s B €, q IR
T=q ® 3fg @ i

(a) 60% (b) 65%

(c) 55% (d) 54%

IR\ Gagan Pratap Sir

29.

30.

31.

32.

33.

SSC CGL MAINS 2019
{18 Nov. 2020}
What is to be added to 15%
180 so that the sum is equal to
20% of 360?
180 % 15% ¥ f&aw wrer =, fw
aEA 360 F 20% F TR T SW?

(a) 60 (b)45
(c) 50 (d) 40
In an examination, 92% of the
student passed and 480

students failed. If so, how
students appeared in the
examination?

Tk T §, 92% B Il g @R
480 B TIA g 3T Wien o fHEa

BA WA g A?
() 6000 (b) 5800
(c) 5000 (d) 6200

If A's income is 60% less than
B's income, then B's income is
what percentage more than that
of A's income?

af A F ™, B & 9™ W 60% FH
2@ B® oM, A® A U fHa

wfera sifus 27
(8) 150% (b) 80%
() 120% (d) 40%

If the radius of a cylinder is
decreased by 20% and the
height is increased by 20% to
form a new cylinder, then the
volume will be decreased by:

A TF T S 7 & oA el sem
1 B ® 20% 1 FH oW A |
20% #1 g # W 2, A A

A Ex il ]
(@)20.5%  (b)32.2%
(€)23.2%  (d)22.3%

The train ticket fare from
places A to B in 2nd class AC
and 3rd class AC is 32,500 and
2,000, respectively. If the
fares of 274 class AC and 3™
class AC are increased by 20%
and 10%, respectively, then
find the ratio of the new fares
of 274 class AC and 3™ class AC.
T A ¥ TIA B % omet # f5dm
goft T, SR gt it g, w1 fwwEn
Fue: 32,500 3R 32,000 ¥l A
g goft weft o g 9ot T %
T | wHE: 20% 3R 10% F1 905
& S, A fgdE gui e oiR A
4 T, * AT U # eEaE 9

Eaisnd
(a)15:13 (b)13:11
(c) 15: 11 (d)12:11
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36.

37.

38.

Percentage
SSC CGL MAINS 2020

{29 Jan. 2022}
When the price of an item was
reduced by 20%, its sale
increased by x%. If there is an
increase of 25% in receipt of the
revenue, then the value of xis:
& fodt a5g & 7oF § 20% H FHA
i T, 7 SR P F % F s
Iy R wife | 25% 1 g5 Bl T,
A x F W [@ H
(a) 55.35 (b) 57.75
(c) 56.25 (d) 54.35
If the sum of 40% of a number
and 30% of the same number is
70, then the number is:
oz fordt Tem & 40% R SE wEm
% 30% A 70 T, 7 W FE- 72
(a) 150 (b) 200
(c) 100 (d) 125
A saves 35% of his income. If
his income increases by 20.1%
and his expenditure increases
by 20%, then by what
percentage do his savings
increase or decrease? (correct
to one decimal place)
A S S F 35% HT A= F
aft ST 31 W 20.1% F1 g e 2
AR STF = | 20% *1 g5 =6 7, @
SUHT = H e vfaem =1 g = w0
T2(HAE F UF T a6 W)
(a) 19.75% of decrease
(b)20.3% of increase
(c) 18.5% of decrease
(d)21.9% of increase
The income of A is 80% of B's
income and the expenditure of
A is 60% of B's expenditure. If
the income of A is equal to 90%
of B's expenditure, then by what
percentage are the savings of A
more than B's savings?
A1 3T, B #1 3T #1 80% ¥ 3 A
F1 =4, B ® =4 #1 60% ¢ a5 A #1
M, B# = % 90% % T &, A A
w1 994, B #1990 U feaa ufaema ety

F 27
(2) 100% (b) 140%
(c) 125% (d) 150%

The monthly expenses of a

2 o,
person are 66 3 Yo more than her

monthly savings. If her monthly
income increases by 44% and
her monthly expenses increases
by 60%, then there is an
increase of 1,040 in her
monthly savings. What is the
initial expenditure (in I)?

TF e w1 WOE =9 ST miaw

99 9 66§% s 21 Atz STt

s 3§ 44% 1 qhg B © AR
IuF Hi® =4 § 60% H1 9FE T T,
9 3u! wiaE 7= | 1,040 F I
e 21 e = (% H) fra 82
(@) 9,000 (b) 12,000

(c) 10,000  (d) 13,000
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1 .

A person saves 335% of his
income. If the saving
increases by 22% and the
expenditure increases by 10%,
then the percentage increase
in his Income is:

1
TS A T AT H 335%35!?!

FTE B AR A=A A 22% FHoAfE W
ST SR == § 10% #1 gfg & =, @
ITFT o ° fobas wfowm =1 s 522
(a) 18% (b) 14%

(c) 16% (d) 22%

In an examination, B obtained
20% more marks than those
obtained by A, and A obtained
10% less marks than those
obtained by C. D obtained 20%
more marks than those obtained
by C. By what percentage are the
marks obtained by D more than
those obtained by A?

TF T §, BA A% Wil 9 20%
afeer ofF W fRT, IR A Y C &
wrdint § 10% %A 3% W fea DA
C % Wi ¥ 20% s %
T D % Tai® A % uraisl O f&ar
wfirera atferes 22

131(%)

10
(@) 333%  (b) 133

1 1
(€)433%  (@233%

1 1
41. The value of 17 =% of SZ% of

42.

2

1
33§ % of 7200 is:

1 1
7200 #® 175 % ®3,% F

1
Ssg%aﬂqﬁﬁmmm?

(@) 7.65 (b) 11.68

(c) 13.65 (d) 9.65

1f91% of A is 39% of B, and B is
x% of A, then the value of x is:

Iz A #1 91%, B %1 39% % iR B,
AH x% 7 @ x % WA FEaT wm?

200 700
(@) —3 (b) —3
400 500
(€ —3 @ —3
IR\ Gagan Pratap Sir

43.

44,

45.

The monthly salary of a person
was %1,60,000. He used to spend
on three heads — Personal and
family expenses (P), Taxes (T)
and Education loan (E). The rest
were his savings. P was 50% of
the income, E was 20% of P, and
T was 15% of E. When his salary
got raised by 30%, he
maintained the percentage level
of P, but E became 30% of P and
T became 20% of E. The sum of
the two savings (in ) is:
T = &1 At J X1,60,000
ol T d9 - =T SR aiEies
== (P), #T (T) iR foan =00 (B) ®
T wA@ T 9N S SUET 9= 2P
3T 1 50% o1 E, P 20 o1 3% T,
E # 15% oMl 5@ 39% o 5 30%
%1 3fz g A 39 P #1 wfaea R e
s & wen @ifs E, P %1 30% @
T &R T, E %1 20% @ T 24w
= A (X H) fEa 22
(@)2,11,680 (b) 1,28,160
(c) 1,18,620 (d) 1,62,810

SSC CGL MAINS 2021

{08 Aug. 2022}

Salaries of B, C, D and E are in
the ratioof 2 : 3: 4 : 5 respectively.
Their salaries are increased by 20
percent, 30 percent, 40 percent
and 50 percent respectively. If the
increased salary of D is 3560, then
what is the sum of the original
salaries of B, C, D and E?
B,C,D3RE® 3T Fa9: 2:3: 4
(5% A9uE H ¥l A FaT H FA:
20 witem, 30 wfawd, 40 wiaem R
50 wfwwE &1 s w1 TE 2| AR D
= gl A 3B60 ©, @ B, C, D @R
E & o 34 %1 4 fwan 22
(a) 1400 (b) 1560
(c)%1820 (d) %1260
Raju spends 10 percent and 20
percent of his income on
transport and food respectively.
He spends 30 percent of the
remaining income on clothing.
He saves rest of his income. If
his saving is 26460, then what
will be total expenditure on food
and clothing together?
T AT T A T FAA: ST A
1 10 Wierd qen 20 Wwm @ w3 2
TE WY A w1 30 UAed wUS W T
FYAT B ST U A FI AT o= @ B
A TR F=q 26460 T, T A= aq
Fuei W o & == fHan am?

46.

47.

48,

49,

Percentage
(a) 26420 (b) 24480
(c)%22140 (d) 23440
Price of rice is decreased by 25
percent and therefore a person
can purchase 30 kg more rice
in the same expenditure. If
expenditure is ¥5400, then
what was the original price of
rice per kg?
= ® ged 25 W9 FH g S R,
ofae s =Afe 3ad g @wH ° 30
formn. st =aw R w21 Af we
35400 ¥, At =reet 1 9fd fFm. arefas
o Fer?
(a)0 per kg
(b) %60 per kg
()75 per kg
(d) %50 per kg
Rohit's income is ¥ 32000. If
his expenses is 30 percent of
total income, then what will be
the saving of Rohit?
e #1 s 32000 T A 3TH T
FA I F1 30 wiaw ¥, 9 Al w1
T featt =n?
(a)%22400 (b) 19200
(c) 24600 (d) *18600
Salary of Mohit is 60 percent
more than Vijay. Salary of Vijay
is how much percent less than
Mohit?
Tifed 1 da fasa & da1 ¥ 60 fawa
afusk 81 fos *1 49 Hifed & S99 9
fora e w9 22
(a)42.5 (b) 47.5
(c) 45 (d) 37.5
Three years ago,
salary was ¥45000. His salary
is increased by 10 percent, A
percent and 20 percent in first,
second and third year
respectively. Raman's present
salary is ¥83160. What is the
value of A?
T o qo8 T FT FaT 45000 o
% A o wedl, TE wen A o
HH: 10 W9, A Wiwr qem 20 wiwrd
#1 gfs # T T TWH B TGAH 4
83160 Bl A ®1 TF # €2
(a) 50 (b) 30
(c) 54 (d) 40

Raman's
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50.

51.

Two numbers are, respectively,
10% and 25% more than the
third number. The ratio of the
two numbers is:

T "o, e wen 9 A9 10%
3 25% s1fass T 39 A TEmet &

52.

Two candidates contested an
election.One of them got 64%
of the votes and won by 434
votes.What was the total
number of votes polled?

[ IEER 4 TE A = 3 9
TF F 64% A O R 434 A @
S wfae gEo=@ T Al #oRa
e = oAdft?

I ] (a) 1550 (b) 1345
(a)22: 25 (b) 19 : 25 (c) 1680 (d) 1684
()23:25  (d) 18:25 53. If 20% of (A + B) = 30% of

A basket contains 350 eggs. If
12% of the eggs are rotten, how
many eggs are good enough to
be sold?

(A - B), then what percentage
of B is equal to A?

Az (A + B) 1 20% = 30% (A - B),
A B w1 foa ufqem A # =R 22

Percentage

TF IF0 ¥ 350 32 T A% 12% i

’ ’ (a) 400% (b) 300%
ggéﬁwa@ﬁaﬁ@m (c) 500% (d) 100%
(a) 408 (b) 310
(c) 308 (d) 410
ANSWER KEY - PERCENTAGE
1. (¢) 2. (d 3. () 4 () 5 (M 6. (d 7. () 8 (b 9. (¢) 10. (a)
11. (d 12. (b) 13. (¢) 14. (c) 15. (a) 16. (b) 17. (b) 18. (c) 19. (¢) 20. (c)
21. (c) 22. (b) 23. (c) 24. (a) 25. (¢) 26. (c) 27. (c) 28. (b) 29. (b) 30. (a)
31. (a) 32. (c) 33. (¢) 34. (c) 35. () 36. (b) 37. (b) 38. (c) 39. (b) 40. (a)
41. (c) 42. (b) 43. (b) 44. (a) 45. (c) 46. (b) 47. (a) 48. (d) 49. (d) 50. (a)
51. () 52. (a) 53. (c)
I\ G2gan Pratap Sir @ CHA&PIDN PUBLICATION
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